HIDROCARBUROS cicLICOS
SELECCIONA LA OPCION QUE CORRESPONDE AL NOMBRE CORRECTO DE ESTOS COMPUESTOS:
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@ciclopropano ©tricicloanano
©ciclobutano ©cicloetano
@ciclocuadrado ©xciclopropano

@ciclohexano ©pentaciclano
©benceno ©riclopentagono

@ciclohexdgono ©ciclopentano
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@1-etil-1,2-dimetil-ciclopentano

©2-ciclohexeno

©ciclohexeno
@2-etil-1,2-dimetil-ciclopentano
©ciclohexano
@1,2-dimetil-1-etil-ciclopentano
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@1-etil-3,4-dimetil-ciclohexano @1 2 3-trimetil-4-ciclohexeno

©1,2-dimetil-4-etil-ciclohexano @3 .4 S-trimetil-ciclohexeno

@4-etil-1,2-dimetil-ciclohexano ©4 5 6trimetil-cidlohiexario
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©2 6-dimetil-1,3-ciclohexadieno

@1,3,5-trimetil-4,6-ciclononadieno ©2,6-dimetil-1.3-cicloheptadieno

©1,3,5-trimetil-4,6-ciclooctadieno ©1,5-dimeti3,5-cidoheptadieno

@3,5,7-trimetil-1,3-ciclooctadieno




